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Math 10 

Lesson 1–6  Answers 

Lesson Questions 
Question 1  

a) 
1

3 318 18  

 

b) 
1
4 414 14  

 

c)  
1

4 43 6 3 6  

 

b) 
1
3 35 4 5 4   

 

e)  
21

3 2 2 333 3 3   

 

f)  
3

340.75 3 445 5 5 5or   

 
 
Question 2 

1
2

1
3

1
2

1

2

1

2

33 13 1
3 322 2

1 3

2

100 10

1000 10

4 4 2

9 3
9

9 9 9 3 3 27

16 16 4 644
16





 
  

 

  
                             

 

 

Nasty question of the day 

Consider 3 4343    

 

 
4

3 343   

4

3343   

4
1

3343
 
 
 

   
1

4 3343  
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Assignment 

1. a) 
1

216 16 4   

c) 
1

3364 64 4    

d) 
1

5532 64 2   

f) 
1

33( 1000) 1000 10      

 

2. a) 
1

0.5 2100 100 100 10    

b) 
1

0.25 4481 81 81 3    

c) 
1

0.2 551024 1024 1024 4    

d) 
1

0.2 55( 32) ( 32) 32 2         

 

3. a) 
1

3336 36  b) 

1

248 48  c) 
1

55( 30) 30    

 

4. a) 

1

239 39  b) 

1
4 490 90  

c) 

1

329   d) 

1

5100  
 

5. a) 1  b) 2     c) 

22 1
23 38 8 2 4

 
   
 

 

d) 
3

138 8 8   e) 

44 1
43 38 8 2 16

 
   
 

  f) 

55 1
53 38 8 2 32

 
   
 

 

 

6. a) 
23 2 34 4or   b) 

35 3 510 10 or  c) 
332.3 2.3or  

 

7. 
1

3 3350 350  

 

8. d) 
3

0.75 3440.75 0.75 0.75     e) 

2 2
5

5
5 5

9 9

 
   
 

  f) 
3

1.5 321.25 1.25 1.25   

 

9. a) 

3

23.8  b) 

2

31.5
 

c)

5

49

5

 
 
 
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10. Evaluate each power without using a calculator. 

a)  

33 1
32 29 9 3 27

 
   
 

    b) 

22 1
2

3 327 27 3 9

8 8 2 4

 
                   

 

   

c)   
22 1

23 3( 27) 27 ( 3) 9
 

      
 

 

 

11. a) 
1

22 4 4    b) 
1

24 16 16    c) 
1

2100 100 100    d) 
1

23 9 9     

e) 
1

25 25 25   

 

12. a)
1

331 1 1       b) 
1

332 8 8    c) 
1

333 27 27   d)
1

334 64 64    

e) 4
1

334 64 64   

 

13. 

3
2

3
2 231

, 4 , 4 ,4
4

 
 
 

 

 
14.  

2
3

2
3

35

35(3.2)

76







h d

h

h m

 

 
15.  

 

 
3
2

2
31.96 1.96  

 

3

2 3

1.96

1.2514 1.4

1.5661... 2.744

 

 

 

 

 
16.  

 

0.7

0.7

0.096

0.096(40)

1.27







SA m

SA

SA

 

 
17. Karen. You can multiply something by itself 4 times, but how do you multiply something by 

itself an extra .2 times? 
 
 
 


